Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 0%_Fadin

Buntton: h*yoo, =96/360;n*yoou=305/36Q:

Helligkeit

L*

Pap=(L* =L*n) / (w-L¥n)

—afy ~Faps [afw —aty]

b*=b* —b*y = a0 [ b*w —b*y ]
Craplata +b7 1 Y2

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 0%_Fadit Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;*voou=305136Q o _ g _x,. [ aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 0,6%_Fadin Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;1*voou=305136Q o _ g _x,. - [aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YOOL

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 0,6%_Fadit Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;1*voou=305136Q o _ g _x,. - [aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 1,2%_Fadin Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;1*voou=305136Q o _ g _x,. - [aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YOOL

)

(C*abam
L*m)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 1,2%_Fadit Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;1*voou=305136Q o _ g _x,. - [aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YooL




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 2,5%_Fadin Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;1*voou=305136Q o _ g _x,. - [aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YOOL

)

(Capam
L*m)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 2,5%_Fadit Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;1*voou=305136Q o _ g _x,. - [aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YOOL

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 5%_Fadin Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;*voou=305136Q o _ g _x,. [ aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YOOL
O
/

(Caam
L*m)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 5%_Fadit Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;*voou=305136Q o _ g _x,. [ aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YOOL




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
;GAQ}F:? pro]e_ctorj %U:J/ofafm Pl =(L* —L*N )/ (Cw-L*n)
untton: h* o0 =96/360;voow=305/360 e ey k. [ty — ay ]
b*a=b* —b*N = japr [b*w ~b*\ ]
Helligkeit L* Cranlata’ +b%37] M2

YOOL
\,—c/"’

7 e

C*abam
L*m)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 10%_Fadit

Buntton: h*yoo, =96/360;n*voou=305/36Q,:

Helligkeit

L*

Pap=(L* =L*n) / (w-L¥n)
—atn e [atw @iy ]

b*a=b* —b*y — '*l;n* [ b'zw I‘/Zb*N]
Crapalata +b%,"]

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 20%_Fadin

aps=(L* =L*N) / (Lw-L*N)
Buntton: h*yoo =96/360;*oon=305/36Q,: — e
=

—atn e [atw @iy ]
b*a=b* —b*y — '*l;n* [ b'zw ‘/Zb*N]
* = g* * b

Crapalata +b%,"]

YOOL
&’

Helligkeit L*

(Capam
- L)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 20%_Fadit

Buntton: h*yoo, =96/360;n*voou=305/36Q,:

Helligkeit

L*

Pap=(L* =L*n) / (w-L¥n)
—atn e [atw @iy ]

b*a=b* —b*y — '*l;n* [ b'zw I‘/Zb*N]
Crapalata +b%,"]

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 40%_Fadin Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;1*voou=305136Q o _ g~ [aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YOOL

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG49_LCD projector_2 40%_Fadit Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;1*voou=305136Q o _ g~ [aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

Buntheit C*ap o




